FRTEE

B LTI DK,
; J = FZEERUVHBZE RS
5 2 Bt - CODEHE |A(##Bh =) mix ?%&UT? z ﬁ_tﬁ
St.1 EFR-BEE I @R) FRKEREEE (=)
—RIEE _
KR (°C)
XiE_[SE(C) =E e 2KE 75 B FE TR =X 2=
48 Bh 18.0 16.0 — 12.0 — BE |meE mR
68 £l 24.0 19.5 — 12.4 — BE |meE mR
8H BEh 29.5 27.8 — 11.0 5.2 BE |meE mR
10R i 19.0 22.0 - 11.0 4.0 BE wmeE wmE
128 =l 9.1 15.8 — 12.0 7.0 BE |meE mR
2R 5] 11.0 15.0 N 12.0 12.0 BE Be BR
4FRRIFIER
oH DO COD |XBEHH |h-~FHUH 2L=TH EX ]
(mg/1) (mg/1) | (MPN/100ml) | EH¥IE (me/l)]  (mg/I) (mg/1)
EE(E| 78~83] 755 F | 20LIF | 1000LLF | JEEH 0.3LLF | 0.03LLF
EE(75%1E) = 8.1 1.7(2.2) = <05 0.26 0.030
48 == 8.1 95 1.7 - <05 - -
hE - - - - - - -
65 == 8.2 8.0 15 - <0.5 0.26 0.034
hE - - - - - - -
8H == 8.1 7.3 2.2 - <0.5 0.23 0.029
= 8.1 7.7 2.5 - <0.5 0.33 0.029
= 8.2 8.2 1.3 - <0.5 0.23 0.029
= 8.1 7.9 1.0 - <0.5 - -
2R i - = = — = — —
BEIEE (REDHEHAD
IS INESS S ) ANfvoL| HE #ikeE |7ZrxkE| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#(E] 0.01LLTF | JE#H | 0.01LLF | 0.05LLF | 0.01LLF [0.0005LLTF | FE#EH ERH |
:F _ — — — — — — —
4K - - - - - - - -
68 - - - - - - - -
8H - - - - - - - -
10H - - - - - - - -
12H - - - - - - - -
2H - - - - - - - -
ynni| migke [1,2-0900( 1,1-C4an [ z-1,2-C4(1,1,1-F)40] 1,1,2-ry4a | FJoAA
) o IRy IFLY |BoaIFLy aT4y aT4y IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#E(E] 0.02LLTF | 0.00260F | 0.004LLF | 0.02LLF | 0.04LLF 1LF 0.006LLF | 0.03LLF
:'Z - - - - - - - -
4K - - - - - - - -
68 - - - - - - - -
8H - - - - - - - -
10H - - - - - - - -
12H - - - - - - - -
2H - - - - - - - -




Fh3o00(1,3-on = s oy ata ~2 TN .
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
[E#{E] 0.01LLF [00025F [ 0.006ELF | 0.003ELF | 0.02LF | 0.01AF | 0.01LLF [ 10LLF
SF - - — — — — — —
48 - - - - - - - -
6H - - - - - - - -
8H - - - - - - - -
10H - - - - - - - -
12H - - - - - - - -
2R - - - - - = - -
ZTDMIER
Jx/—)L V) SS 2mR |soofns| e
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
RE - - 3 - - -
e e . — —— '
B — — 1 — — —
- e I B '
B — — 1 — — —
B - I B '
B — — 3 — — —
B — — 3 — — —
=] _ _ 2 _ _ _
2R g — — = - - —
Bl | BEEE | omen
(mg/1) (mg/1) (mg/1)
:Fﬂﬂl_g 20000 - 0.03
=RE 22000 - -
& | 20000 - 0.02
B | 19000 - 0.03
B | 19000 - 0.03
& | 20000 - 0.02
= 20000 - -
2R g = — -




FRTEE

B L CIEHKE,
; J = FZERERUVHRZE RS
5 2 Bt — CODEHE |A(##Bh =) mix ?%&UT? z ﬁ_tﬁ
St.2 EFR-BEE I @R) FRKEREEE (=)
—RIEE _
KR (°C)
XiE_[SE(C) =E e 2KE 75 B FE TR =X 2=
48 Bh 18.1 16.0 — 14.0 — BE |meE mR
68 £l 24.0 19.5 — 12.0 — BE |meE mR
8H BEh 29.5 28.0 — 11.0 5.2 BE |meE mR
10R i 19.0 22.0 - 11.0 4.5 BE wmeE wmE
128 =l 9.3 16.0 — 13.0 9.0 BE |meE mR
2R 5] 11.0 14.8 N 13.0 13.0 BE Be BR
4FRIFIER
oH DO COD |XBEHH |h-~FHUH 2L=TH EX ]
(mg/1) (mg/1) | (MPN/100ml) | EH¥IE (me/l)]  (mg/I) (mg/1)
EEME| 78~83] 755 F | 20LF | 1000LLF | JEEH 0.3LLF | 0.03LLF
EE(75%1E) — 8.2 1.5(2.0) = <05 0.25 0.030
48 == 8.2 9.3 1.4 - <05 - -
hE - - - - - - -
65 == 8.2 8.0 1.4 - <0.5 0.22 0.031
hE - - - - - - -
8H == 8.2 7.7 2.0 - <0.5 0.15 0.021
= 8.2 8.2 2.4 - <0.5 0.41 0.038
= 8.2 8.2 1.2 - <0.5 0.21 0.029
= 8.1 7.9 0.7 - <0.5 - -
2H i - = ~ — = — —
BEIEE (REDHEHAD
IS INESS S ) ANfvoL| HE #ikeE |7ZrxkE| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#(E] 0.01LLTF | JE#H | 0.01LLF | 0.05LLF | 0.01LLF [0.0005LLTF | FE#EH ERH |
:F _ — — — — — — —
4K - - - - - - - -
68 - - - - - - - -
8H - - - - - - - -
10H - - - - - - - -
12H - - - - - - - -
2H - - - - - - - -
oOni| migke [1,2-0900( 1,1-C4an [ z-1,2-C4(1,1,1-F)40] 1,1,2-ry4a | BJoAA
a o IRy IFLY |BoaIFLy aT4y aT4y IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#E(E] 0.02LLTF | 0.00260F | 0.004LLF | 0.02LLF | 0.04LLF 1LF 0.006LLF | 0.03LLF
S'Z - - - - - - - -
4K - - - - - - - -
68 - - - - - - - -
8H - - - - - - - -
10H - - - - - - - -
12H - - - - - - - -
2H - - - - - - - -




Th3o0a0(1,3->9n = PN Nl TN .
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
[E#{E] 0.01LLF [00025F [ 0.006ELF | 0.003ELF | 0.02LF | 0.01AF | 0.01LLF [ 10LLF
SF - - — — — — — —
4R - - - - - - - -
6A - - - - - - - -
8H - - - - - - - -
10A - - - - - - - -
12R - - - - - - - -
28 - - - - - - = =
ZOHIER
Jx/—)L V) SS 2mR |soofns| e
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
RE - - 2 - - -
L e e - s
=] — — 2 — — —
L e - s
=] — — 2 — — —
- e T - s
5 - - 4 - - -
=] — — 2 — — —
=] _ _ 2 _ _ _
2R g — — = - — —
Bl | BEEE | omen
(mg/1) (mg/1) (mg/1)
:Fﬂﬂl_g 20000 - 0.02
=RE 22000 - -
B | 21000 - 0.02
B | 19000 - 0.02
B | 19000 - 0.03
B | 19000 - 0.02
= 20000 - -
2R g = — -




FRTEE

B L CIE KB,
;~ 1) :ﬁn :Ei ;» R N ;» \5 5
5 2 Bt — CODEHE |A(##Bh =) mix ?%&UT? z ﬁ_tﬁ
St.3 EFR-BEE I @R) ReFRKEREREE (Z)
—iRIEE _
K& (°C)
XiE_[SE(C) =E e 2KE 75 B FE TR =X 2=
48 Bh 18.1 16.5 16.0 13.0 — BE |meE mR
68 £l 24.0 19.5 19.5 13.0 — BE |meE mR
8H BEh 30.0 28.2 26.7 12.0 4.7 BE |meE mR
10R i 19.0 22.0 22.0 12.0 4.2 BE wmeE wmE
12A] =Y 8.8 15.6 15.8 13.0 7.8 k) iy EBR
2R 5] 11.0 15.0 15.0 12.0 10.0 BE Be BR
4FRRIFER
oH DO COD |XBEHH |h-~FHUH 2L=TH e
(mg/1) (mg/1) | (MPN/100ml) | EH¥IE (me/l)]  (mg/I) (mg/1)
EEME| 78~83] 755 F | 20LLF | 1000LLF | JEEH 0.3LLF | 0.03LLF
EE(75%1E) — 7.9 1.5(1.6) - <0.5 0.21 0.029
48 == 8.2 9.3 1.4 - <05 - -
IE 8.2 9.2 1.4 - - - -
65 == 8.2 8.0 15 - <0.5 0.21 0.028
IE 8.2 8.0 1.6 - - - -
8H == 8.1 6.7 2.1 - <0.5 0.20 0.030
IE 8.1 6.2 3.0 - - - -
107 == 8.2 7.6 1.7 - <0.5 0.23 0.028
GIE 8.2 7.7 15 - - - -
125 == 8.2 8.2 1.3 - <0.5 0.21 0.029
GIE 8.2 8.2 1.4 - - - -
oH == 8.1 7.8 0.6 - <0.5 - -
B 8.1 7.9 0.8 - - - -
BERIEE (REDHEHAD
I INESS &0 ANEYRL|  #MFE kR |7L*LkiR| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#(E] 0.01LLTF | JE#H | 0.01LLF | 0.05LLF | 0.01LLF [0.0005LLTF | FE#EH ERH |
:F _ — — — — — — —
4K - - - - - - - -
6H - - - - - - - -
8H - - - - - - - -
10H - - - - - - - -
12H - - - - - - - -
2R - - - - - - - -
ynni| mige [1,2-0900( 1,1-C4an [ zx-1,2-4(1,1,1-F)40] 1,1,2-ry4a | BJoAA
a2 o IAaY IFLY | AaxTFLY oT4ay oT4y IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#E(E] 0.02LLTF | 0.00260F | 0.004LLF | 0.02LLF | 0.04LLF 1LF 0.006LLF | 0.03LLF
:F _ — — — — — — —
4K - - - - - - - -
6H - - - - - - - -
8H - - - - - - - -
10H - - - - - - - -
12H - - - - - - - -
2R - - - - - - - -




Tr3o00(1,3-Y45n = R N2 NS .
TI;-_ Ly I:I7I:I//\°> 7’"77.1-\ DA @IV a;Jj}-[:\j.J Aoty Ly iﬁi&é&;@;*u
: (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
£:F=E> fEl 0.01LLF [0.00230F | 0.006LLF | 0.003LLF | 0.02LLF [ 001LLF | 001LLF | 10LLF
| ——— - - - - - -
64 - - - - - - - -
8AH - - - - - - - -
10AR - - - - - - - -
12AR - - - - - - - -
24 - - - - - - - -
EDHIEE
— RILL
Iz/— ] SS ZE®R |JOAKRLL| 5
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
TEEl - - 3 - - -
RE - - 2 - - -
4R ; E = = 2 = = —
=] — — 2 — — —
6A ; E = = 2 = = —
=] — — 2 — — —
8A ; E = = 2 = = —
= - - 4 - - -
=] — — 3 — — —
=] — — 2 — — —
2R g — — 2 — — —
Bl | BEEE | omen
(mg/1) (mg/1) (mg/1)
EHBE| 20000 - 0.02
48 =RE 22000 - -
hE 19000 - -
68 =RE 20000 - 0.02
0 [ 20000 - -
8H =E 19000 - 0.02
hE 19000 - -
=E 19000 - 0.02
10H th S 19000 - -
=E 19000 - 0.02
12H th S 19000 - -
=RE 20000 - -
2R pE 20000 - -



FRTEE

B L CIE KB,
;~ 1) :ﬁn :Ei ;» R N ;» \5 5
5 2 HBiEE — CODEHE |A(##Bh =) i ?%&UT? z ﬁ_tﬁ
St.4 EFR-BEE I @R) ReFRKEREREE (Z)
—iRIEE _
K& (°C)
XiE_[SE(C) =E e 2KE 75 B FE TR =X 2=
48 Bh 17.6 16.0 16.0 17.0 — BE |meE mR
68 £l 24.0 19.5 19.5 17.5 — BE |meE mR
8H BEh 29.5 28.0 27.8 17.0 6.0 BE |meE mR
108 55 19.0 22.0 22.0 17.0 5.8 BE |meE mR
12A] =Y 9.2 15.7 15.8 18.0 8.5 k) iy EBR
2R 5] 11.0 15.2 15.2 17.0 12.0 BE Be BR
4FRRIFER
oH DO COD |XBEHH |h-~FHUH 2L=TH EX ]
(mg/1) (mg/1) | (MPN/100ml) | EH¥IE (me/l)]  (mg/I) (mg/1)
EEME| 78~83] 755 F | 20LLF | 1000LLF | JEEH 0.3LLF | 0.03LLF
EE(75%1E) — 8.0 1.3(1.5) = <05 0.23 0.030
48 == 8.2 9.3 15 - <05 - -
IE 8.2 9.3 1.6 - - - -
65 == 8.2 8.3 1.3 - <0.5 0.26 0.033
IE 8.2 8.0 1.4 - - - -
8H == 8.1 6.5 1.9 - <0.5 0.26 0.037
IE 8.2 7.2 1.9 - - - -
107 == 8.2 7.6 1.3 - <0.5 0.20 0.022
GIE 8.2 7.9 1.3 - - - -
125 == 8.2 8.1 1.2 - <0.5 0.20 0.029
GIE 8.2 8.1 0.9 - - - -
oH == 8.1 7.8 0.5 - <0.5 - -
B 8.1 7.9 0.6 - - - -
BERIEE (REDHEHAD
I INESS &0 ANEYRL|  #MFE fikéR |7L*LKkER| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#(E] 0.01LLTF | JE#H | 0.01LLF | 0.05LLF | 0.01LLF [0.0005LLTF | FE#EH ERH |
:F _ — — — — — — —
4K - - - - - - - -
68 - - - - - - - -
8H - - - - - - - -
10H - - - - - - - -
12H - - - - - - - -
2H - - - - - - - -
ynni| mige [1,2-0900( 1,1-C4an [ zx-1,2-4(1,1,1-F)40] 1,1,2-ry4a | BJoAA
a2 o IAaY IFLY | AaxTFLY oT4ay oT4y IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#E(E] 0.02LLTF | 0.00260F | 0.004LLF | 0.02LLF | 0.04LLF 1LF 0.006LLF | 0.03LLF
:F _ — — — — — — —
4K - - - - - - - -
68 - - - - - - - -
8H - - - - - - - -
10H - - - - - - - -
12H - - - - - - - -
2H - - - - - - - -




TRIORRILETE Fosa | vevy | TATY | xvey | wuy |MEERERU
: (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
_%gﬁ 0.01LLF [0.0020F | 0.006LLF | 0.003LAF | 0.02LLF | 0.01LLF | 0018LF | 10LLF
4K - - - - - - - =
68 - - - - - - - -
8H - - - - - - - -
10R - - - - - - - -
128 - - - - - - - -
28 - - - - - - — —
ZTDhIFE
- RILL
Iz/— ] SS ZE®R |JOAKRLL| 5
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EHE - - 3 - - —
=B - - 2 - - -
4R ; E — — > — — —
=] _ _ 2 _ _ _
6R ; E — — 3 — — —
=] _ _ 2 _ _ _
8H ; E — — > — — —
=] _ _ 4 _ _ _
=] _ _ 5 _ _ _
= - - A - - -
2R & - - <1 - - -
iy Eggﬁ YR
(mg/1) (mg/1) (mg/1)
SEBTE|] 20000 - 0.02
48 == 19000 - -
hE 20000 - -
68 =E 20000 - 0.01
hE 20000 - -
8A =E 20000 - 0.03
th B 19000 - -
== 19000 - 0.02
10AH th S 19000 - -
=E 20000 - 0.02
2R hE 20000 - -
=E 20000 - -
2R pE 20000 - -




FRTEE

B L CIE DK,
5 2 HBiEE - COD#EH |A(E#ER) FHERERVHRBRZEEE
i St5 |- SR 1 GEBIR) REKEREEE (Z)
—iRIEE _
KR (°C)
Xz %R (°C) =E e 2KE 75 B FE TR =X 2=
48 Bh 16.5 16.0 16.0 14.0 — BE |meE mR
68 £l 24.5 19.0 19.0 18.9 — BE |meE mR
8H BEh 29.2 26.5 26.3 18.0 75 BE |meE mR
108 55 19.0 22.3 22.0 18.0 8.5 BE |meE mR
128 =l 9.5 16.5 16.6 18.0 10.0 BE |meE mR
2R 5] 11.0 15.0 15.1 18.0 14.0 BE Be BR
4FRRIFIER
oH DO COD |XBEHH |h-~FHUH 2L=TH EX ]
(mg/1) (mg/1) | (MPN/100ml) | EH¥IE (me/l)]  (mg/I) (mg/1)
= &[] 7.8~83| 75LLE | 20LLF | 1000LLF | JEMRiH 0.3LLF | 0.03LLF
EE(75%1E) - 8.2 1.4(1.4) 33 <0.5 0.18 0.026
48 == 8.2 9.1 1.3 - <05 - -
IE 8.2 9.1 1.3 - - - -
65 == 8.2 8.1 1.3 93 <0.5 0.18 0.025
hE 8.2 8.2 1.1 - - - -
8H == 8.2 8.0 2.1 - <0.5 0.15 0.027
IE 8.2 75 1.9 - - - -
107 == 8.2 8.1 1.7 - <0.5 0.21 0.026
GIE 8.2 8.1 1.3 - - - -
125 == 8.2 8.1 1.4 0.0 <0.5 0.18 0.025
GIE 8.2 8.1 1.4 - - - -
oH == 8.1 7.9 0.6 7.0 <0.5 - -
B 8.1 8.0 0.9 - - - -
BEIEE (REDHEHAD
I INESS &0 ANEYRL|  #MFE fikéR |7L*LKkER| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#(E] 0.01LLTF | JE#H | 0.01LLF | 0.05LLF | 0.01LLF [0.0005LLTF | FE#EH JERRH |
E <0.002 <0.1 <0.005 <0.02 0.001 <0.0005 - -
4K - - - - - - - -
68| <0.002 <0.1 <0.005 <0.02 0.001 <0.0005 - -
8H - - - - - - - -
10H - - - - - - - -
128]| <0.002 <0.1 <0.005 <0.02 0.001 <0.0005 - -
2R - - - - - - - -
yani| mige [1,2-0900( 1,1-C4on [ zx-1,2-4(1,1,1-F)40] 1,1,2-ry4a | BJoAA
) o IRy IFLY | AaxTFLY (= ok 3 oxsy IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#E{E] 0.02LLTF | 0.00260F | 0.004LLF | 0.02LLF | 0.04LLF 1LLF 0.006 LLF | 0.03LLF
E <0.002 [ <0.0002 [ <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
4K - - - - - - - -
68l <0.002 | <0.0002 | <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
8H - - - - - - - -
10H - - - - - - - -
128| <0.002 | <0.0002 | <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
2R - - - - - - - -




Fh5400(1,3->4n0 = s —pats FARY TN . MREEERY
TI?"/‘J I:I7I:I/\°> 7’"77.1-\ 87 jJ)l/j oty LY iiﬁ&ﬁ;%
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| ] 0.01LLF [0.0020F [ 0.006 L F [ 0.003LLTF | 0.02BLF [ 0.01BLF | 0.01LLF | 10LLF
I <0.001 [ <0.0002 ] <0.0006 <0.0003 <0.002 <0.001 <0.001 0.10
48 - - - - - - - -
68| <0001 [ <0.0002 | <0.0006 <0.0003 <0.002 <0.001 <0.001 <0.01
8AH - - - - - - - -
108 - - - - - - - -
128 <0.001 | <0.0002 [ <0.0006 <0.0003 <0.002 <0.001 <0.001 0.18
2H - - - - - - — —
ZTNDIEE
I1/—) i SS LEH |rORkILL 77;'?;‘|L:\F
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EHE - - 2 0.068 - -
RE - - 2 - - -
47 ; E — — 1 — — —
5 - - 2 - - -
68 ; E — — > — — —
= - - 2 0.068 — -
8AH ; E — — > — — —
B _ _ 3 _ _ _
108 ; E — — 3 — — —
B _ _ 8 _ _ _
1 ZH ;E _ _ 4 — — —
= — - 4 - - -
2R i — — < — — —
LY HEEE . .
(mg/1) (mg/1) (mg/1)
SEISTE| 20000 0.02 0.02
=B 21000 - -
4R hE 20000 - -
68 =E 20000 <0.01 <0.01
hE 20000 - -
8H xB 19000 — 0.02
th & 19000 — —
=E 19000 — 0.02
108 th S 19000 — -
=E 19000 0.02 0.02
128 th S 19000 — -
=E 20000 — -
2R pE 20000 - -




FRTEE

B L CIEHKE,
5 2 Bt - COD#EH |A(E#ER) FHERERUVHERBRZEEE
) St.6 =R I (RER) A RKERER A (=)
—RIEE _
KR (°C)
Xz %R (°C) =E e 2KE 75 B FE TR =X 2=
48 Bh 16.2 16.5 — 17.0 — BE |meE mR
68 £l 24.0 20.0 — 27.0 - BE |meE mR
8H BEh 285 26.7 — 22.0 9.7 BE |meE mR
10R i 18.6 22.4 - 24.0 12.5 BE wmeE wmE
128 =l 8.7 16.5 — 24.0 10.0 BE |meE mR
2R 5] 10.5 15.1 N 23.0 17.0 BE Be BR
4FRRIFIER
oH DO COD |XBEHH |h-~FHUH 2L=TH EX ]
(mg/1) (mg/1) | (MPN/100ml) | EH¥IE (me/l)]  (mg/I) (mg/1)
= %(8| 7.8~83| 75LLE | 20LLF | 1000LLF | JEMRiH 0.3LLF | 0.03LLF
EE(75%1E) — 8.0 1.4(1.5) 15 <0.5 0.18 0.022
48 == 8.2 9.0 1.1 - <05 0.20 0.026
IE 8.1 9.1 1.3 - - - -
65 == 8.2 8.3 1.1 46 <0.5 0.15 0.019
IE 8.2 8.2 1.4 - - - -
8H == 8.2 7.0 1.8 - <0.5 0.14 0.021
IE 8.2 6.7 2.3 - - - -
107 == 8.2 7.9 15 - <0.5 0.16 0.017
GIE 8.2 7.9 2.7 - - - -
125 == 8.2 8.0 1.0 0.0 <0.5 0.19 0.026
GIE 8.2 8.1 0.8 - - - -
oH == 8.1 8.0 1.0 0.0 <0.5 0.25 0.023
B 8.1 8.0 0.8 - - - -
BERIEE (REDHEHAD
I INESS &0 ANEYRL|  #MFE kR |7L*LkiR| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#(E] 0.01LLTF | JE#H | 0.01LLF | 0.05LLF | 0.01LLF [0.0005LLTF | FE#EH JERRH |
E <0.002 <0.1 <0.005 <0.02 0.001 <0.0005 - -
4K - - - - - - - -
68| <0.002 <0.1 <0.005 <0.02 0.001 <0.0005 - -
8H - - - - - - - -
10H - - - - - - - -
128]| <0.002 <0.1 <0.005 <0.02 0.001 <0.0005 - -
2R - - - - - - - -
yani| migke [1,2-0900( 1,1-C4an [ z-1,2-4(1,1,1-F)40] 1,1,2-ry4a | BJoAA
a2 o IRy IFLY |BoaIFLy (= ok 3 oxsy IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B (] 0.02LLF [0.00260F | 0.004LLF | 0.02ELF [ 0.04LLF 1LLF 0.006 LLF | 0.03LLF
E <0.002 [ <0.0002 [ <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
4K - - - - - - - -
68l <0.002 | <0.0002 | <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
8H - - - - - - - -
10H - - - - - - - -
128| <0.002 | <0.0002 | <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
2R - - - - - - - -




Tr340a(13-¥4n = spsss, | FARY o5, 45 ., |mmesmzu
IFLY I:I7I:I/\°> 7’"77.1-\ v jJ}l/j 0L Y 4 4 Y iiﬁ&ﬁ;%
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B#E{E] 0.01LLF | 0.002LLF [ 0.006 LF [ 0.003LLF | 0.02LLF 0.01LLF 0.01LLF 10LLF
o <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 0.10
4 A - - - - - - - -
6 H <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 <0.01
8H - - - - - - - -
104 - - - - - - - -
128 <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 0.20
28 — — — - - - - -
ZTNDIEE
Jx/—)L V) SS 2mR |soofns| e
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EHE - - 2 0.053 - -
RE - - < - - -
4R oh 8 — — % — — —
RE - - < - - -
68 ; E — — > — — —
B = - 2 0.053 - =
8H ; E — — 2 = — —
=] _ _ 3 _ _ _
1 OH ;E _ _ 4 _ — —
=] _ _ 3 _ _ _
124 ; E — — 3 — — —
—_ —_ 2 —_ —_ —_
2 [=]
A g - - r — — —
Bty | =Y . .
(mg/1) (mg/1) (mg/1)
SFﬁﬂI_E 20000 0.02 0.02
48 =E 22000 - 0.02
B 21000 - -
68 =B 20000 <0.01 <0.01
th B 19000 - -
8H AL 19000 - 0.02
B 19000 - -
=E 19000 - 0.01
108 th S 19000 - -
=E 20000 0.02 0.02
12R hE 20000 - -
xE 19000 - -
2R pE 20000 - -



